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F IH H H A Bz N Lo N HrEn zsii) BrEH— /NS fipal) i = b= N X
kA - - 6A5H 6H5H 6H11H 67120 67 18H 6 18H 67 19H 6A19H -
ki - C 24.0 22.8 21.8 24.5 21.1 25.0 21.8 22.8 25.0

Py F o= oy koW x o b A& W 0.02L4F mg/1 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <0.002

2 v 5 v % [6) z D it & L7} 0.002L4 T mg/1 0.0003 <0.0002 <€0.0002 <0.0002 <€0.0002 <0.0002 <€0.0002 <0.0002 0.0003

3 |= v v v R [6) z » (4 & 7 0.02LL F mg/1 <0.002 <€0.002 <0.002 <€0.002 <0.002 <€0.002 <€0.002 €0.002 <0.002

4 , 2 - v s = = £ v v 0.004LL F mg/1 <€0.0004 <0.0004 <€0.0004 <0.0004 <0.0004 <€0.0004 <0.0004 <0.0004 <0.0004

5 |k 2 - N 0424 F mg/ <0.04 <€0.04 <0.04 <€0.04 €0.04 €0.04 €0.04 €0.04 <0.04

6 |7 # » WM Y (2 - = F AL o~ F T o) 0.08LL F mg/1 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <€0.008 <0.008 <0.008

7 V4 = = 7 + S = k Y V% 0.01LLF mg/1 <0.001 0.001 <0.001 0.001 <0.001 <0.001 <€0.001 €0.001 0.001

8 |# IS 7 o 7 — V% 0.02LL F mg/1 <0.002 0.003 <0.002 0.003 <0.002 <0.002 0.003 0.003 0.003

9 |k 4 # LT mg/1 0.6 0.5 0.5 0.4 0.4 0.5 0.5 0.4 0.6

0 B orv vy oA < 7 * vy on = (@ ) 10~100LA F mg/ 92 40 75 58 82 77 75 67 40 92

11 D) vk ® o o A B 0.01LLF mg/ 0.001 <€0.001 <0.001 <€0.001 <0.001 0.005 <0.001 <€0.001 0.005

12 | 3 R % 20LLF mg/1 4 3 4 3 4 3 4 3 4

B pn, 1, 1 - ~ VUV 7 =m B = X v 0324 F mg/1 <€0.001 <€0.001 <0.001 <€0.001 <0.001 <0.001 <€0.001 €0.001 <0.001

4 (A F# A - t - 7 F A = — F b (MTBE) 0.028L F mg/1 <0.002 <€0.002 <0.002 <€0.002 <0.002 <0.002 <€0.002 €0.002 <0.002

15 |F ] L) = ( KMnO4 ) 3LLF mg/1 1.1 1.3 1.3 1.4 1.3 1.3 1.6 1.8 1.8

16 |® B G I ( TON ) 3LUF B <1 <1 <1 <1 <1 <1 <1 <1 <1

17 |7 %€ Ji %5 L7 30~200LL mg/1 310 120 190 130 160 160 180 160 120 ‘ 310

18 |® B 1BLF B <€0.1 <0.1 <€0.1 <0.1 <€0.1 <0.1 <€0.1 0.1 €0.1

19 |p H i 7.5FLHE mg/1 7.9 7.1 7.6 7.3 7.6 7.7 7.7 7.7 7.1 ‘ 7.9

20 B8 & -  Z v K U 7 i %% )| -UEELE EN | me/ 0.0 -2.2 -0.7 -1.3 -0.6 -0.5 -0.6 -0.59 0

21 % A ES 3 kil HEVEHR2000L0 T | {E/ml 11 2 48 22 24 100 18 10 100

22 |1 , 1 - Y s 9w m = F L v 0.1L4F mg/1 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 €0.01 €0.01

2 |7 A~ X = v on K OO T o A& W 0.1L4F mg/1 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 €0.01 €0.01
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